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Because he is not included in the laws of divorce and betrothal

Overview

The X713 concluded that an 72¥ cannot receive a 3 on behalf of a woman since he is
not PVITP Y3 nnal! Our MooIn reconciles our X3 with a seemingly
contradictory Xna.

mooin replies to an anticipated difficulty:
$98N 30Y0N 13991 2NV TaYa NYNNNT XM

And this that she becomes divorced through her own 72v; that it an account of
"X 1°12, but not that he is a mow.

Summary
A woman can be divorced if the v is given to her 72¥ on account of 7% 1°1p.

Thinking it over

There is a dispute whether the 7317 1°3p is *X20°X 77> QW or *RAIPR MW own.?
How will we answer n901n question if we maintain >X270°R Mmbw own xn; for
since the 1¥1 7717 is on account of M°?w and an 72 cannot be a >w?!°

' An *1v1> 72¥ cannot be W7pn a woman; if he is w7pn her it is invalid; she is not nwTpn; it is self-understood that he
cannot divorce a woman either.

2 The x7m3 previously on X,XJ states X171 7R that if the husband gave the v to her 72y, she is nw 1, but how can that
be since he cannot become a m°%w to deliver a va.

3 The 72y is like her property (her 721 [courtyard]). The rule is that a person’s 7¥7 is P for him as if it was placed in
his hand. Therefore if he gave the v to her 72y, she acquires the v through 131 13 (but not through mi*w). If however
he sends a v3 with an 72y (not her 72v), which is not her 2xn, she is not divorced since he cannot be a m>%w.

4 See 2,” Xy¥n K22,

5 See 2Py NXON.
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